PIWSEvANEYYA ACN-A DREPAE
ACN-ADIE CAST ALUMINUM ENCLOSURE _Instruction Manual

SOV BHERESEO LTV EREERIZHYMNESTENET,
CEROHICBHT CORAEELLBHEAD L, ELBRHLLESL,
(COBHAFX. BFRELTHNTIEELY,)

Thank you for purchasing our product.

Please read this Instruction Manual carefully before use,
to ensure proper use of the product.

(Please make sure that you will not lose this Instruction Manual.)

R2EDTEE Important Notes on Safety Instructions

B, A RE-RT- R OMICO T CORRGHAZEL FOMDIEEESETRTHREL, FLSSHEBELAL, B2
HiE. RR2OBBZILTCEERFEOITARTIT OV TERLTH LA AL, COTIEHBEE T, REFIEEHEDIVE
[ERIGEEILLTRALTHYET,

Read this Instruction Manual and all other relevant instructions thoroughly before handhng, installing or using
the product or performing maintenance or inspection work on the product, and use the product correctly. Make
sure that you have acquired the necessary knowledge about the equipment and have read and understood all
relevant instructions and safety information, before proceeding to use the product. The safety instructions
contained herein are preceded either by the word “Danger” and Danger symbol shown below or by the word
“Caution” and the Caution symbol shown below, depending on the degree of danger that will result from failure

to follow the instruction.

A f& Bﬁ * RIEWEREB RIS, BRERENECYA T, REREESEZZITIAHEEIEEShEI5E

Indicates that improper handling or use may result in a dangerous situation in which

Danger the risk of death or serious personal injury is present.

Z!S‘I & | REOEESLBAIS ARERRAEIVAT, PREOEE £ ALEMAEESN DS
== & RUMMBSEORENEEINDEE,

Caution | Indicates that improper handling or use may result in a dangerous situation in which
the risk of medium personal injury or the risk of damage to property is present.

B8 A\ B|ICRBLEBETE REIZEOTLERGRRIMU T RIRSYES, WFhABRENBERAL TV ET O TBTFoTHEREL,

The above classification does not mean that the instructions preceded by m are less important
Failure to follow such instructions may also result in a serious consequence.Therefore, be sure to follow
both types of instructios.

IEFEJ:G)}IE: Instructions for Use
/N F & Caution

T EARCEA R OBEBIZOLTIL, AN—ERTF—NE Djil"]LESH'HT‘C(T—'éL\
B> TR 5 E ., BN TERKLET,

- REREL KOHAEAS MU D EF TOTERIRER TSN, SyF o OBEELSMETL, BRI DB HYET

- W= RTF—IZETT DRI, ANA—hUAREEICHTTEN TOBIEERERLWKESD . AN—ETORBRLANHYET,

- Wi—hLEHEH LT ChA—2H LT R2HR BRI IEZSV AEHIRIT T, ANR—PETTEBIAHBYET,

= In the case of the square type box, when mounting the cover, make sure the gasket fit the body. After mounting the cover,
make sure that with no space between the cover and body. Otherwise it will cause the inundation.

* Do not use in the place where water or oil keep showering down on for a long time. Otherwise the gasket may be depleted and
the enclosure may be flooded.

« Make sure the cover is securely fastened with screw and not to be fallen.

* Do not lift the cover with pinching cover screw. Otherwise the screw may be pulled out and the cover may fall.

BETLEOZEE Instructions for Installation
/N X & Caution

- RyH2ZROBAFFIE, +HREEDHLIBREICHERICEEL TSN,
BENTHTHEMEES ., RyIANETL, REOHBEOCTHORELLLAREMAHYET,
« Please fix tightly to rigid wall, when enclosure fixing. If not, it causes the breakdown of the equipment or the injury.




BAUMI#OMELIZDLT Operating after Hole Processing

A # B Caution

LRI R IFULESER T,

RYVZADREEREHFT 252, HEOBOSREANRERETEH. /t‘ybxw{%ﬁ%%&"é%ﬁﬁﬂ'é%l“ RV IRERIED
REFRO, ULFREES (ULY RTYRERLIZULL S 34 XR) OB O8HE AEBEE I TN,

This enclosure is UL listed.

"To Maintain The Environmental Rating Of This Enclosure, Install In The Openings Only Supplied Grommets” or “To Maintain The

Environmental Rating Of This Enclosure, Install In The Openings Only Devices That are UL Listed Or Recognized With The Same
Environmental Ratings As The Enclosure."

247 (UL) Type | F’xERX4 Using Section REEIRE (BIE) Protective environment
1 E W Indoor % TER Falling Dirt
B (B5) BB, B, £k, BEIERK, SHEREEKICkDI81E
4 Indoor (¢;r Outdoor) Windblown Dust and Rain, Splashing Water,
i Hose-directed Water, Damage from External Ice Formation
BX. Bt BEEBUK, BrFO— B8k, SMEEKIZL B85
6 . Hose-directed water, Entry of water during prolonged submersion
Indoor or Outdoor ose , fntry gp g ersio
at a limited depth, Damage from external ice formation
12 E A Ind : BIRER. ETER. ETK
ndoor Clrculatmg Dust, Falling Dirt, Dripping Non-corrosive Liquids

(CE B )BEEEFEBZI OOV TIRULEIE A A NET,
(Note) Newly painted products are excluded from UL certification.

BRYIXBEE Appearance of the Enclosure

J18—
Cover

Hhi—hl M5-30

- Cover screw M5-30 y
§ Tfen;s)ory) HE A General performance
ﬁg{gﬁ ER-EfNEA  Indoor / Outdoor
Stee tine plat » IP66
RO REFR ot —ep * UL50 Typel,4,6,12
Mounting hole 4,0,

+ 75 RARILE
M5-10

+flanged hexagon bolt 7—24l M5-8
M5-10 Grounding Screw M5-8
(TESR)
(Accessory)
M EB&RIZOLT Accessory list
HBMMNER Details of the accessories
R4 Parts %2 Quantity Mk Usage
H3—hl M5-30  Cover screw M5-30 4 H8—H{t A Cover mounting
7—Zfal M5-8  Grounding screw M5-8 a® 1 F-ARGLEEERRS)  Grounding, mount to plate

S BSYLLICEET20ERBYET DTS 7RI, Fz, CTRLARHY EL L RE S EHARBCHMLEHEEEL. COREHRAEOREFIX20106127 REDEDTY .
Specifications etc. contained herein may be changed without notice. If you have any question regarding contents of this document.plese contact our Technical Support Department.
The information contained herein is current as of April, 2010.

B § I #& A*i BEHASE  SMESMAEAFEEFE2201FH#h  Technical Support Department / 2201 Kanihara,
I»CE TEL(0561)64-0152 Nagakute-cho, Aichi-gun, Aichi Prefecture

©N|TTO KOGYO CORPORATION http://www.nito.co.jp 480-1189, Japan TEL +81-561-64-0152

SK-038F B451002921

—n —



